
Problem Set 1 (due Feb 11, 2014)

1. Natural units.

(a) The mass of the recently discovered Higgs boson is reported to be mH = 126 ±
0.4(stat) ± 0.4(syst)GeV. Write this mass in SI units (ignore error bars).

(b) Rewrite the mass of the electron and the proton in GeV. The inverse of masses
define corresponding length scales. Write the length scales associated with the
electron, the proton and the Higgs boson in fm (1fm=10−15m).

(c) Consider a bullet of mass 1gm moving with speed 100m/s. Give its nonrela-
tivistic momentum in GeV. Rewrite its mass in terms of GeV. Compare the two
to justify the nonrelativistic approximation.

2. Particle production from energy. (All quantities are given in natural units)
Consider the collision of two particles with mass m in the centre of mass reference
frame. Let the first particle be moving towards the +z direction with (magnitude of
the) momentum p1 = 2m and the second towards the −z direction with (magnitude
of the) momentum p2 = 2m. Write the four momentum of the the two particles and
the sum. After the collision three particles of mass m are created. The first particle
moves in the +z direction with momentum m, the second particle moves in the −z
direction but the magnitude of its momentum is not known. Use conservation of four
momenta to find the momentum of the second and the third particle. Now reconsider
the collision in the case where the momenta of the initial particles p1, p2 � m. Can
the final state consist of three particles with mass m?

3. Srednicki Problem 1.2
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